@Polispors

Performance Plastics

CLUTCH COVER
PROTECTION

Mounting Instructions

POSITION/ POSITION/ POSITION/ POSITION/
YAMAHA LENGTH(MM LENGTH(MM LENGTH(MM) LENGTH(MM)

\CrHuny) - HONDA " krm " HUsQVARNA i

1-M6*30 1-M6*25 T-M6"65 1-M6*65
YZ450F 84584 2-M6*30  CRF250R 24411 2-M6*30 XCF/SXF 450-500 - FE 450 )

. ) 84477  2-M6*30 84477  2-M6*30

3-M6*70 3-M6*30  EXC/XCW 450-500 _Meso FC450 - Mé*
3-M6*30 3-M6*30
1-M6*35 1-M6*30 T-M6"25 1-M6*25
WR450F 2- M6*45 _M6%30 EXCF/XCFW 250-350 - FE 250-350 )

o CRF4SOR 84460 2-M6*30 84478  2-M6*25 84478  2-M6*25
3-M6*85 3-M6*30  XCF/SXF 250-350 3. Merso FC250-350 3-M6*50
1-M6*30 - =

WR250F —= e
84540 2. Me30 SUZUKI EXC/XCW 125-200 o ; mgég TC125 v ; mg;;
YZ250F g 1-M6"30 34 - Mé6* 8447 - M6*
3-M6*30 XC/SX 125-200 «e TE125 ’
RMZ250 84475 2-M6*30 3-M6*35 3-M6%35
KAWASAKI 3- M6*30
1- M6*30 1- M6*75 /1 Check full application list at www.polisport.com
KX250F 84358 2-M6*30  RMZ450 84476  2-M6*30
3-M6*70 3-M6*70
1-M6*30
KX450F 84407 2-M6*30
3- M6*30
DE EN ES

Danke, dass Sie sich fiir Polisport's Kupplungsdeckel-Protek-
toren entschieden haben.

Die korrekte Installation des Produkts ist von entscheidender
Bedeutung, damit es perfekt passt, eine optimale
Funktionalitdt und Sicherheit gewahrleistet werden kann.
Bitte beachten Sie die Montageanleitung oder kontaktieren
Sie einen autorisierten Handler.

Polisport wird nicht fiir Produkte haften, welche inkorrekt
installiert oder in einer unangemessenen Weise verwendet
werden.

FR

Merci d’avoir choisi les protections de couvercle d’embrayage
Polisport.

La bonne installation est indispensable pour garantir un
ajustement parfait et ainsi d’assurer un niveau optimal de
fonctionnalité et de sécurité. Merci de préter attention aux
instructions de montage suivantes ou de contacter un
revendeur agréé si besoin.

Polisport ne sera pas tenu responsable pour les produits qui
seront mal installés ou utilisés de fagon inapproprié.

Thank you for choosing Polisport’s Clutch Cover Protectors.

The correct installation of this product is vital to guarantee a
perfect fit and the optimal level of functionality and safety. Please
pay attention to the following mounting instructions or contact
an authorized dealer. Polisport won't be held responsible for
products that are incorrectly installed or used in a inappropriate
way.

T

Grazie per aver scelto una protezione carter frizione di Polisport.
La corretta installazione di questo prodotto & vitale al fine di
garantire un perfetto montaggio e livelli ottimali di funzionalita e
sicurezza. Vi invitamo a seguire attentamente le seguenti
istruzioni di montaggio, o a contattare un rivenditore autorizzato.
Polisport non si riterra responsabile per i danni derivanti da
prodotti montati non correttamente o utilizzati in modo
improprio.

Gracias por seleccionar los protectores de embrague Polisport.
La correcta instalacion del producto es vital para poder
garantizar un nivel de ajuste y funcionalidad 6ptimo. Por favor
siga las instrucciones de montaje y en caso de duda contacte
con un distribuidor autorizado.

Polisport no se haré responsable de productos instalados o
utilizados de manera incorrecta.

PT

Obrigado por escolher os protetores de caixa de embraiagem
Polisport.

A correta instalagdo destes produtos é fundamental para
garantir um ajuste perfeito assim como um 6timo nivel de
desempenho e seguranca. Por favor preste atencdo as
instrugdes de montagem ou, se necessario, contacte um
distribuidor autorizado.

A Polisport ndo sera
ou utilizados de forma incorreta.

por produtos i

MAN0242.1



